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Q1 What is the main difference between the early days A.I. (e.g. expert system) and modern days A.lL. (e.g.

Google’s Alpha Go)? (20 marks)
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Q2 Use FORWARD CHAINING and BACKWARD CHAINING to show the following reasoning

deduction: (20 marks)
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Q3 Comparing Bayesian Reasoning Method and Certainty Factors Method, what advantages does each
method have over the other? (20 marks)
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Q4 Use Madani-style fuzzy inference to perform:

(i) Fuzzification from crisp inputs: input x=4; input y=7 (10 marks)
(ii)  Rules Evaluation Rule 1: IF xis A1 ANDy is B3, THEN z is Cl; (10 marks)
Rule 2: IF x is A2 OR y is B2, THEN z is C2, zis C3
(iii)  Aggregation of Rule Consequences (10 marks)
(iv)  Defuzzification, and find the crisp output value (10 marks)
You may put your answer on the graph
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